$F49E FHEBHEMYVINR—ILKE $F45 7838(8H)

Y BRAABHAA] 8295 [BAAHKE T 9WF487%y  [FhITRERE] RAMEM] 1199 PR 1
F— L4 1 2 3 4 5 6 7 8 9 1001112 13]14]
Golden Bears 3 4 0 9 16
=FHAE ol o] 210 2
#EOkE O LOFE 18 RmEE o 3 BEMSEH] mA EEMT pex
B —H JC Golden Bears OEE £ — TE/KELAT
Be— BRI =Z#ETALE @ 5 VEHFAN ARHEEK —  IRHHIR
(o) ARS8 ——— SR EREZEKR T8 AEREA
®B¥) A2iT BOsEAE =8 ——— “8yr WBHRER
Yk BRABHAA] 8F30% [BRAR T  9W524r  [FhITIERE] RAFEM] 1225 PR E 2
F— 14 1 2 3 4 5 6 7 8 9 10|11 ] 12]13] 14 ] &
Lowrise 0 0 0 1 0 0 1
FaEREIXE 1 0 1 0 2 0 4
#H okE SHRBHE 12 HERUER om 38 FIPERRR sekaEYE AR mox
Be—1l CH Lowrise @ KR7EH —  HHREKRER
Be—4 %R #HriBEFEEER O BFHER —  [UTFRER
e A2 ——— =8 ——— —8y ———
(B AR AHEH =Xt - T8 FER RKHEH
s BRAABHAA] 1085270 [BAART]  11Wp475r  [HhibrieER] GRA W] 1RRI204 BEHI% 53
F— I 1 2 3 4 5 6 7 8 9 1011 ] 12| 13]14]
FREREILRE 1 0 0 0 1
Golden Bears 4 5 0 |2X 9
) HE MBORET 182 JLOEE 22 MARAE 38 SASE: amae EEERT ke
Be— W HBERERE @ AmEth IR mERET — WK
¥W—H %I Golden Bears Oﬁ}}% T IEEZER EiEHdH — EpgZE R B 5
%) A8IT IWTKRER =87 ——— 4§5:T’T - =

(20 KB ——— SR ——— S




